


•

•

•



•

–



•

–

–

–

–

•

–

–

–

–





•

•

•
–

–

–

–

–









•

–

–

–
•

–

–





•

•

•

•

•

•



•

–

–

–





•



•

•

•

•



•

•



•






•






•







•







•

•

•

•

•



•

•

•

•

•



•

•

•















•

𝑈𝑖 = 𝑓(𝑎, 𝑏, … , 𝑧)

• 𝑈𝑖





•











•

•

•

•





•

– 𝑡0
–

𝑡1
–

𝑡3
–



•

http://success-equation.com/urn.html
http://success-equation.com/urn.html
http://success-equation.com/urn.html
http://success-equation.com/urn.html
http://success-equation.com/urn.html


•

•

•

•

–

•
–

–

–



•

•

•

•




